
www.onlineclassroom.gr 
 

ΑΣΚΗΣΕΙΣ 

 

1)  Να λςθούν οι παπακάτω εξισώσειρ   

1. 2x – 5 + 6x = 3x + 3                        Απάνηηζη : (x = 1,6) 

2. 3x + 8 = 4x – 6–5x + 9                    Απάνηηζη : (x = - 1,25) 

3. 12(x+1) –3(6x+7) = 4(4–3x) –3      Απάνηηζη : (x = 3,67)  

4. x
2 
+ 6x – 40 = 0                               Απάνηηζη : (x1 = 4 και x2= -10 ) 

5. 2x
2 

+ 7x + 3 = 0                               Απάνηηζη : (x1 = - 0,5 και x2= - 3) 

6. x
2 
– 6x + 9 = 0                                 Απάνηηζη : (x1,2 = 3) 

7. x
2 
+ 4x + 5 = 0                                 Απάνηηζη : (δεν υπάρχει λύζη διόηι Δ= -4<0)  
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